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A
Basic charge

1 
Section 14, which is the basic charging section for profits tax, reads:


“Subject to the provisions of this Ordinance, profits tax shall be charged for each year of assessment at the standard rate on every person carrying on a trade, profession or business in Hong Kong in respect of his assessable profits arising in or derived from Hong Kong for that year from such trade, profession or business (excluding profits arising from the sale of capital assets) as ascertained in accordance with this Part:”

(a)
there must be a trade, profession or business carried on in Hong Kong;

(b)
the profit must arise in or is derived from that trade, profession or business as mentioned in (a) above;

(c)
the profit must arise in or is derived from Hong Kong.

2
What level of activities amounts to a business?

A mere receipt of rental income may amount to a business - American Leaf Blending Co Sdn Bbd v. Director of Inland Revenue (Malaysia) [1978] All ER 1185.

3
Capital asset v. trading stock

The taxpayer’s intention at the time of acquisition of a property or shares is to be measured or tested against objective facts and circumstances.

6 badges of trade to identify an asset as a capital asset or trading stock.

(a)
Subject matter of sale -  nature and quantity

Example: Thousand bottles of wine or million rolls of toilet papers can hardly be purchased for the purpose of private consumption.

(b)
Length of time in holding the asset

(c)
Frequency of similar purchase and sale transactions

(d)
Supplementary work done on the asset

Example: Packing of perfume in bottles enhances the value of the perfume.  Organization of sales staff better promotes the sale of the goods.

(e)
Reasons for the sale of the asset


Is the sale of the asset realization of the trading motive of the taxpayer?  

Is the sale of the asset beyond the control of the taxpayer?

Was there any frustrating events forcing the taxpayer to sell the asset?

(f)
Motive of purchasing the asset


Is the asset purchased for the purpose of trading or long-term investment?


Other considerations include (i) the experience of the taxpayer in that trade or business and (ii) whether the taxpayer has financial ability to hold the property or asset on a long term basis. 
4.
What is not business or trade?


Hobbies, habits, speculations or purchase of assets for appreciation, personal or private purposes.

5 
Location of the source of profits.
Refer to DIPN 21 Revised (1998).

General principles

(a)
The question of locality of profits is a hard, practical matter of fact.  No universal rule covers every case.  Whether profits arise in or are derived from Hong Kong depends on the nature of the profits and the transactions giving rise to them.

(b)
The broad guiding principle is that one looks to see what the taxpayer has done to earn the profits in question and where he has done it.  In other words, the proper approach is to ascertain what were the operations, which produced the relevant profits and where those operations took place.

(c)
The distinction between Hong Kong profits and offshore profits is made by reference to gross profits arising from individual transactions.

(d)
In certain situations, where gross profits from an individual transaction arise from different places, they can be apportioned as arising partly in and partly outside Hong Kong. 

(e)
The place where day-to-day investment decisions are taken does not generally determine the locality of profits.

(f)
The absence of an overseas permanent establishment of a Hong Kong business does not, of itself, means that all of the profits of that business arise in or are derived from Hong Kong.

Trading Profits

The determining factors, as indicated in the Hang Seng Bank and TVBI court decided cases, is the place where the contracts for purchase and sale are effected.

Manufacturing profits

(a) The determining factor is the place where the goods are manufactured.  The source of manufacturing profits is the place where manufacturing process is carried out. 
(b) In the situation where the goods are partly manufactured in Hong Kong and partly outside Hong Kong, say in the Mainland of China, then part of the profits which relate to the manufacture in the Mainland of China is not regarded by the CIR as derived from Hong Kong.   
(f) If the Hong Kong manufacturer provides capital, machinery, raw materials and supervision skills (provision of supervision and management teams) to the Mainland party in the processing of raw materials with the finished goods transported to Hong Kong for sale, the profits of the Hong Kong manufacturers will be, according to the CIR’ view, subject to a 50:50 basis of assessment.    This view had been adopted in the assessment of those manufacturing profits earned by the Hong Kong manufacturers for over 10 years.  The CIR has changed this view recently. 
(d) In the recent few years, the CIR has scrutinised the ways of processing of raw materials.   The CIR is of the view that processing of raw materials should be considered under two different processing methods: (i) contract processing, that is, where it is the Hong Kong manufacturer who provides the raw materials to the Mainland party and (ii) import processing where the raw materials were not provided by the Hong Kong manufacturer but purchased by the Mainland party.    The 50:50 basis of assessment of the Hong Kong manufacturer’s profits should merely apply to the processing of raw materials under contract processing method. 
(e) If the processing of the raw materials is under import processing, the CIR is of view that the 50:50 basis of assessment should be denied.   The Hong Kong manufacturer's profits has been regarded by the CIR as trading profits and hence should be fully chargeable to Hong Kong profits tax.   It is because under import processing, it is the Mainland party who is the owner of the raw materials and who pays for the cost of the raw materials for import into the Mainland for processing.  It follows that the Hong Kong manufacturer merely purchases the finished goods from the Mainland party. 
Other profits

Rental income from real property arises from the place where the property is located.

Profit from the sale of real estate arises from the place where the property is located.

Profit from the purchase and sale of listed shares arises from the place where the stock exchange is located and where the shares are traded.

Profit from the sale of shares issued outside Hong Kong and not listed in a stock exchange arises from the place where the contracts of purchase and sale are effected.

Service fee income arises from the place where the services are performed.

Provision of credit test is a general test to determine the source of interest income.  However, provision of credit test is disregarded in section 15(1)(i) in determining the source of interest income earned by financial institutions.]

Provision of credit test: the place where interest income is located is where the credit (or loan) is made available to the borrower.

Financial institutions [Exception to the general test in finding out the source of interest income.]

Interest from loans advanced by financial institutions

Depends on (a) where the loans are initiated, negotiated, approved and documented and (b) where the loans are funded or where the money is obtained for the purpose of onward-lending to the borrowers. 

If both (a) and (b) are carried out in Hong Kong, the interest earned by the bank has a source in Hong Kong and is wholly chargeable to Profits Tax.   If either (a) or (b) is carried on in Hong Kong, then one half of the interest earned is assessable to Profits Tax.  If both (a) and (b) are carried on outside Hong Kong, the interest income is wholly exempt from Profits Tax.

[Notes: 

Operation test was stated by Atkin L. J. in Smidth v. Greenwood (8 TC 193)

Study the judgment of Lord Atkin closely. Operation test is not the test to determine the source of profits.   It is a test to determine whether a trade is exercised at a certain place.

Facts:

The taxpayer carried on business in Denmark as a manufacturer and dealer of cement-making and other similar machinery.  The taxpayer rented an office in London and hired a full-time staff in charge of that office. The duties of the staff were to ascertain the requirements of the clients, inspect the sites of the clients for any proposed installation of machinery and report to the taxpayer in Denmark, and generally superintend important installation of machinery.

Negotiation of the contracts between the taxpayer and the clients was conducted in Denmark where the contracts were finally concluded.

Question:
Whether the taxpayer exercised a trade in the United Kingdom?

The judgment by Atkin L.J. at page 203:

“The question is whether the profits brought into charge are “profits arising or accruing” to the taxpayer “from any trade.... exercised within “the United Kingdom” within the meaning of Schedule D of the Income Tax Act, 1853.  The question is not whether the taxpayer carried on business in this country.  It is whether they exercised a trade in this country so that profits accrue to them from the trade so exercised.”

......

I think the question is, where do the operations take place from which the profits in substance arise?  To my mind there is no evidence in the present case of any other place than Denmark.

.....

“What is done there” that is, soliciting orders, “is only ancillary to the exercise of his trade in the country where he buys or makes, stores, and sells his goods.”]

DIPN 32 (1998) – Arrangement between the Mainland China and the HKSAR for avoidance of double taxation

HK - effective from 1998/99.  Mainland China – effective from 1 July 1998

HK Tax: Salaries Tax and Profits Tax.

PRC tax: Individual Income Tax, Foreign Enterprise and Foreign Investment Income Tax. For land transport business, exemption extends to business tax. 

A Mainland enterprise with a permanent establishment in Hong Kong will be subject to Hong Kong tax. In other words, such an enterprise without permanent establishment in Hong Kong will not be subject to Hong Kong tax.

Permanent establishment: space, activity and time (6 months)

Shipping and air transport business: HK has a right to tax a shipping or air company carrying on business in Hong Kong.  Such companies will be exempt from PRC tax.

Land transport business: Similar to above. In addition, in the case of a co-operative transport business where the Hong Kong party is responsible for the provision of cars and capital and the Mainland party for the application for licence, permit, tax compliance and other administrative work, the Hong Kong party will be charged to Hong Kong Profits Tax only on the profits shared from the co-operative transport business.

Employment income

A Mainland employee working in Hong Kong will be exempt from Hong Kong salaries tax if (a) the employee’s salary is not paid by a Hong Kong resident enterprise or company,  (b) the employee’s salary is not borne by the Mainland enterprise’s permanent establishment in Hong Kong and (c), the employee stays in Hong Kong not exceeding a total of 183 days in a calendar year.

Directors are liable for the tax of the place where the enterprise is located.

Artistes and athletes: No exemption. Tax is payable in the territory where performance takes place.

Tax credit    [Assume that profit of $2,000 has been doubly taxed.]

	
	
	HK tax
	PRC tax
	

	
	
	$
	$
	

	
	Profits
	10,000
	2,000
	

	
	Tax 
	  1,600 = ($10,000 x 16%)
	   660 = ($2,000 x 33%)
	

	
	Less: Tax credit
	     320 = ($2,000 x 16%)
	
	

	
	Net tax payable
	 1,280
	
	

	
	
	 ====
	
	


B
Basis period

A year of assessment ends on 31 March each year but not every taxpayer prepares his account on that date. A taxpayer may close his accounting date on a date other than 31 March each year.  He may also prepare an account with an accounting period less than or more than one year. He may change his accounting date. He may cease to carry on his business.


Therefore, the IRO lays down rules to ascertain the taxpayers’ profits for any year of assessment irrespective of any accounting periods, which may be submitted by them.

Section 2 of the IRO reads:

“‘Basis period’ for any year of assessment is the period on which the income or the profits of which tax for that year ultimately falls to be computed.”

[The basis period of the relevant year of assessment is determined by the END of the relevant accounting period. For example, the END of the accounting year (period) ended 30 June 2002 falls within the year of assessment 2002/03 (that is, 

1 April 2002to 31 March 2003).   Therefore, the accounting period ended 30 June 2002 forms the basis period for the year of assessment 2002/03.] 

1
When business commences
(a)
First account made up to a date within the year of assessment in which the business commenced. This first account must have an accounting period less than 12 months.  


The basis period runs from the date of commencement of business to the date on which the account is closed.

Example 1

Business commenced on 1 July 2003.  Annual accounts made up to 31 December each year. The first account of 6 months was made up to 31 December 2003.

Basis periods for assessments will be, as follows:

	
	Y/A
	Basis period
	
	

	
	
	
	
	

	
	03/04
	Based on account from 1 July 2003 to 31 December 2003.
	
	

	
	04/05
	Based on account for the year ended 31 December 2004.
	
	

	
	05/06
	Based on account for the year ended 31 December 2005.
	
	

	
	
	etc.,....
	
	


(b)
First account made up to a date within the year following the year of assessment in which the business commenced to trade.

(i)
First account is less than 12 months.  The basis period runs from the date of commencement to the date on which the first account is closed.  There is no assessment for the year of assessment in which the business commenced to trade.

Example 2

Business commenced to trade on 1 August 2003.  Annual accounts were made up to 30 April each year.  The first account of 9 months was made up to 30 April 2004.

	
	Y/A
	Basis period
	

	
	03/04
	no assessment, i.e. no profit.
	

	
	04/05
	1 August 2003 to 30 April 2004
	

	
	05/06
	1 May 2004 to 30 April 2005.
	

	
	
	etc.,....
	


(ii)
The first account is more than 12 months.  The basis periods are to be determined by the Commissioner of Inland Revenue

Example 3

Business commenced to trade on 1 August 2003.  Annual accounts will be made up to 31 December each year.  The first account, which was more than 12 months, was made up to 31 December 2004.

	
	Y/A
	Basis period
	

	
	03/04
	1.8.03 - 31.12.03
	

	
	04/05
	1.1.04 - 31.12.04
	

	
	05/06
	1.1.05 - 31.12.05
	

	
	
	etc.,,....
	


2 
When business continues

The basis period is the year ending on the date in the year of assessment in which the account is closed.

Example 4

A company closes its accounts annually on 30 June.

It closed its accounts on 30 June 2003 and 30 June 2004.

Basis periods for the year of assessments 2003/04 and 2004/2005 are, as follows:

	
	Year of assessment
	Basis period
	
	

	
	
	
	
	

	
	2003/04
	for year ended 30 June 2003
	
	

	
	2004/05
	for year ended 30 June 2004
	
	


3
When business ceases

(a)
For business commenced after 1.4.1974 (the new business), the basis period for the year of cessation runs from the date following the end of the basis period of the year of assessment preceding the year of cessation to the date of cessation.  This final basis period may be more than or less than 12 months.

Example 5

A company commenced business in 1980 and closed its accounts on 31 May annually. The company closed its account, as follows:

	
	For year ended 31 May 2003
	
	
	

	
	For year ended 31 May 2004
	
	
	

	
	
	
	
	

	
	
	
	
	


The basis period for the two years of assessment are, as follows:

	
	Year of assessment 
	Basis period
	
	

	
	2003/04
	For the year ended 31 May 2003
	
	

	
	2004/2005
	For the year ended 31 May 2004
	
	

	
	
	
	
	

	
	
	
	
	


Then the company ceased to trade on 15 December 2004.

An additional assessment for 2004/2005 is to be raised as follows:

	
	Year of assessment
	
	
	

	
	2004/2005 (the cessation year)
	1 June 2004 to 15 December 2004
	
	


[Note: The whole basis period of the cessation year of assessment (2004/2005) may be over 12 months.  In fact, in this example, it is 18 1/2 months, running from 1 June 2003 to 15 December 2004.]

[If the company ceases to carry on trading on 15 April 2004, the basis period for the cessation year will be from I June 2003 to 15 April 2004, which is a period less than 12 months.]

(b)
For business commenced before 1.4.74 (the old business)

(b) Up to the year of assessment 1978/79, the basis period runs from 

            1 April in the year of cessation to the date of cessation.

(ii)
From year of assessment 1979/80 onwards, 


the assessable profit of the year of cessation



is 

the profit computed  per (i) above 



AND


the “relevant profit” in excess of 


the “transitional amount”, if any.

[Read section 18(5) to see any loophole. 

Prior to 1980, a business which had an accounting date other than 31 March escaped tax liability on profit for the period from the end of the pen-ultimate year of cessation to 1 April of the cessation year.  The loophole was closed by section 18(2A).]

Example 6

Alan Limited, which commenced business in 1966 and closed its accounts on 30 September each year, ceased business on 31 May 2005.  Adjusted profit before depreciation allowance for the relevant periods of the company are as follows:

	
	Accounting period
	$
	
	

	
	
	
	
	

	
	8 months ended 31 May 2005
	120,000
	
	

	
	For the year ended 30 September 1974
	130,000
	
	

	
	For the year ended 30 September 1975
	150,000
	
	


Year of cessation: 2005/06

	
	
	
	$
	$
	
	

	
	
	Profit from 1 April 2005 to 31 May 2005
	
	
	
	

	
	
	(1 April 2005 to 31 May 2005)
	
	
	
	

	
	
	[$120,000 x 2/8]
	
	30,000
	
	

	
	
	
	
	
	
	

	
	
	Add: Relevant profit, that is, the lapsed profit 
	
	
	
	

	
	
	(1 October 2004 to 31 March 2005)
	
	
	
	

	
	
	[$120,000 x 6/8]
	90,000
	
	
	

	
	
	
	
	
	
	

	
	
	Less: Transitional amount
	
	
	
	

	
	
	(1 October 1974 to 31 March 1975)
	
	
	
	

	
	
	[1 October 1974 is the normal accounting end date in 1974/75.  31 March 1975 is the fixed date which, in any event, is not to be changed.] 
	
	
	
	

	
	
	[$150,000 x 6/12]
	75,000
	15,000
	
	

	
	
	
	
	
	
	

	
	
	Total assessable profit
	
	45,000
	
	

	
	
	
	
	(((((
	
	


Question: What will be the transitional amount if the trading result for the year ended 30 September 1975 is a loss (say, $150,000) instead of a profit?

Answer: The transitional amount is zero.

	
	
	$
	$
	

	
	Same profit as above 
	
	30,000
	

	
	Add: Relevant profit
	90,000
	
	

	
	Less: Transitional amount [loss]
	0
	90,000
	

	
	
	
	
	

	
	Total assessable profit
	
	120,000
	

	
	
	
	((((((
	


Question: What will be the result if the profit for the year ended 30 September 1975 is $250,000?

Answer:  The excess of the “relevant profit” over the “transitional amount” will be zero.

	
	
	$
	$
	

	
	Same profit as before
	
	30,000
	

	
	Add: Relevant profit
	90,000
	
	

	
	Less: Transitional amount
	
	
	

	
	(1 October 1974 to 31 March 1975)
	
	
	

	
	[$120,000 x 6/ 12]
	125,000
	0
	

	
	
	
	
	

	
	Total assessable profit
	
	30,000
	

	
	
	
	(((((
	


Question: What will be the transitional amount if the accounts of the company are closed on 30 June each year and in 1975, on 30 June 1975?


[Profit for the year ended 30 June 1975 was, say, $70,000.


Owing to the change of accounting date by the company some time between 1975 and 2005, the company closed its account on 30 September 1995.]

Answer: The transitional amount covers a period from 1 July 1974, which is the normal accounting end date in 1974/75, to 31 March 1975.


[Remember: 31 March 1975 is the fixed date which is not to be changed.]

	
	
	$
	$
	
	

	
	Same profit as before
	
	30,000
	
	

	
	Add: Relevant profit
	90,000
	
	
	

	
	Less: Transitional amount
	
	
	
	

	
	 (1 July 1974 to 31 March 1975)
	
	
	
	

	
	 [$70,000 x 9/12]
	52,500
	37,500
	
	

	
	Total assessable profit
	
	67,500
	
	

	
	
	
	(((((
	
	


4
Change of accounting date

Read section 18E.

Year of change is the year of assessment in which a taxpayer:

(a) 
fails to make up an account to the corresponding date of the preceding accounting year; or

(b)
make up accounts to more than one date in that year of assessment.

Basis period for the year of change:

(a)
shall be computed on such basis as the Commissioner thinks fit; and

(b)
may be more than 12 months if the trade, profession or business commenced on or after 1 April 1974 (the new business) according to Section 18E.


[Note: After Yick Fung Estate case (1998) in the Court of First Instance, the basis period for the year of change in the case of old business may exceed 12 months.   This decision has been overruled in the Court of Appeal.  The present position is that for old business, the basis period for the year of change should be 12 months.]

4.1
Business commenced prior to 1 April 1974 (the old business):

Practice:

(a) 
to get to the new accounting date as early as possible; but

(b)
to ensure that any period left out (because an assessment more than 12 months cannot be made for the old business) is not a high profit period, by choosing an appropriate basis period for the year of change and if necessary, re-computing the profit for the year of assessment preceding the year of change.

[In other words, only 2 years of assessment are affected by section 18E, that is, the year of change and the year before the year of change.]

Example 4                                                                                           
Old business.  Agreed profits before depreciation allowance are as follows:

	
	Accounting period
	$
	
	

	
	
	
	
	

	
	12 months to 30.6.01
	180,000
	
	

	
	12 months to 30.6.02
	300,000
	
	

	
	6 months to 31.12.02
	210,000
	
	

	
	12 months to 31.12.03
	160,000
	
	

	
	
	
	
	


Working:

Total profits for all periods:  $850,000

Year of change: 02/03

Basis period for the year of change:  for year ended 31.12.02
(Remember: should use the new accounting date as early as possible.)

Profit for the year of change:  $300,000 x 6/12 + $210,000 = $360,000

Should the profit for the year of assessment preceding the year of change be re-computed by using the new accounting date?

	
	
	No re-computation
	
	Re-computation
	
	

	
	
	of the profit for the year preceding the year of change
	
	of the profit for the year preceding the year of change
	
	

	
	
	$
	
	$
	
	

	
	
	
	
	
	
	

	
	01/02
	180,000 [old B P: f y e 30.6.01
	
	240,000 [new B P: f y e 31.12.01]
	(*)

	
	
	
	
	
	
	

	
	02/03
	360,000 [new B P: f y e 31.12.02]
	=
	360,000 
	
	

	
	
	
	
	
	
	

	
	03/04
	160,000 [new B P: f y e 31.12.03]
	=
	160,000
	
	

	
	
	
	
	
	
	

	
	Total profits
	700,000
	
	760,000
	
	


(*) $180,000 x 6/12 + $300,000 x 6/12 = $240,000

Which should be the answer?

Example 5

Old business.  Agreed profits before deprecation allowance  are as follows:

	
	Accounting period
	$
	
	

	
	
	
	
	

	
	12 months to 30.9.01
	160,000
	
	

	
	12 months to 30.9.02
	220,000
	
	

	
	9 months to 30.6.03
	180,000
	
	


Working: 

Total profit for all periods:

Year of change:

Basis period for the year of change:

(Remember: should use the new accounting date as early as possible)

Profit for the year of change:

Should the profit for the year of assessment preceding the year of change be re-computed by using the new accounting date?

	
	
	No re-computation
	
	Re-computation
	
	

	
	
	of the profit for the year preceding the year of change
	
	of the profit for the year preceding the year of change
	
	

	
	
	$
	
	$
	
	

	
	
	
	
	
	
	

	
	01/02
	
	
	
	
	

	
	
	
	
	
	
	

	
	02/03
	
	
	
	
	

	
	
	
	
	
	
	

	
	03/04
	
	
	
	
	

	
	
	
	
	
	
	

	
	Total profits
	
	
	
	
	


Which should be the answer?

4.2
Business commenced on or after 1.4.74 (the new business)
Practice:

(a)
to get to the new accounting date as early as possible;

(b)
to ensure that period for the profit assessed for every year of assessment is not less than 12 months and that no profit is left out.  [Remember: the commissioner may assess the taxpayer for a period of more than 12 months for new business.]

Example 6

Business commenced on 1 May 88.  Agreed profits before deprecation allowance are as follows:

	
	Accounting period
	$
	
	

	
	
	
	
	

	
	12 months to 30.4.01
	260,000
	
	

	
	12 months to 30.4.02
	280,000
	
	

	
	9 months to 31.1.03
	220,000
	
	

	
	12 months to 31.1.04
	290,000
	
	

	
	
	
	
	


Working:

	
	Accounting period
	Year of assessment
	Answer
	

	
	
	
	Profit
	

	
	
	
	$
	

	
	
	
	
	
	

	
	12 months to 30.4.01
	01/02
	
	260,000
	

	
	
	
	
	
	

	
	12 months to 30.4.02
	02/03
	(?)
	
	

	
	
	
	
	500,000
	

	
	9 months to 31.1.03
	02/03
	(?)
	
	

	
	
	
	
	
	

	
	12 months to 31.1.04
	03/04
	
	290,000
	

	
	
	
	
	


Example 7

	
	Accounting period
	$
	
	
	

	
	
	
	
	
	

	
	12 months to 30.9.00
	210,000
	
	
	

	
	12 months to 30.9.01
	240,000
	
	
	

	
	9 months to 30.6.02
	200,000
	
	
	

	
	12 months to 30.6.03
	280,000
	
	
	

	
	
	
	
	
	


Working:

	
	Accounting period
	Year of assessment
	Answer
	
	

	
	
	
	Profit
	
	

	
	
	
	$
	
	

	
	12 months to 30.9.00
	00/01
	210,000
	
	

	
	
	
	
	
	

	
	12 months to 30.9.01
	01/02
	240,000
	
	

	
	
	
	
	
	

	
	9 months to 30.6.02
	02/03
	260,000
	(*)
	

	
	(Basis period less than 12 months.  Should 

re-compute? Yes.)
	
	
	
	

	
	
	
	
	
	

	
	12 months to 30.6.03
	03/04
	280,000
	
	


(*) 
$260,000 = ($240,000 x 3/12 + $200,000): Assessable profit for the year ended 30.6.02.

[Exception: To increase the profit to a period of 12 months may not be necessary if the change of accounting date is beyond the control of the taxpayer. 

For example, the taxpayer is taken over by another company which adopts a different accounting date.]

NB: 

(a)
Where an account is made up to the end of a Lunar Year, the commissioner may and in practice accept the account as being made up to a corresponding day in each year of assessment.

(b) Where it is necessary to apportion profit or loss, the apportionment may be made up to the number of months or number of days unless the commissioner, having regard to any special circumstances, otherwise directs. 
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